XA H S = [=3 X S
ﬁ‘l‘o'—ﬁ_}— 6°ﬂHﬂ 4'?_|- "él 3‘!‘ g||-|=| ?_H-H
= 413 E)AME2 414.@GhAESF 2.15(%) 216.(2)7N% 2173
= ZIO|Z4 ZH|AHASH=
ot £ Zof Isjoje MAy | IVIARES 20|
(RLSES)
Bl ) )
= W3 Bl 9% B
ZFH|
e capol s | HI9A B s
M (N 38-39%
Sk=e SIAF Al =
a2 ZHoA(o] =
Pl 25 i Y 27 e-8HSE]
A= (941 4027t (RiF4EE 63panh
221 0|5 A7 =07
oi1g)
sh& Lesson 1. What 4.19 it
;;(21] grade are you ABIEQ|
i in? QUOLE Y|
ol 3 g 2L G| 419 Yo ¥,
ﬁ ¥ = & 23|17 iy, 21
e 3t e
aa (Hza2z gshqmy | (BFESZ 64T
- o 27+ —A|-2|-17o|-
M= 8ol 23 TP 10-14%
LM BENE | gopuni spgal|-
i} e ARl 3t 23t
xx Er15H7 7L
= =Tl e ()
A 3R 1+(ALH L) S
A s e3 27127 LiErLy |
Al
o315 o
2= e-Sk5E]
xSz 6aHAN e
SR e E V| mizamz espaam
= -ASk17F
A= ot Sk | o Tet o
HES et s ue | o S A
2% o 10115 3=
ZHO|Z ZH|AHASH=
} 43t g st g
o
il e x| COT €F AEE
= d oo
=3 A7 AHS | apue, onm
s 201Ut ? -=e =
4| =S orop=ore
N
. e-sl5E
GER T E NIENT)
-fsh27y B2M 10-112 AT
Za 1. 24-25% 220l | wD 112 U7t Azt
5 340
e A E s 2amo e
=
(iztool Zae) | LA HOIR]

2. 22 20| SOy
26-27% 3125P |




it Al 29
ot Lol 7t 27t .
=] = = s
=3 B 2 2Ciet it
pi==clpnly
5| = TR amy 2 wioja
A sz = gl I R
)\l =20 OE'O|E7| [y =]
WA 10-122
£ HH5| 9l g | RN 14%
e OlH57|(13%2 | (NSt & St
0l 9 BE %)
o %)
ST o NS
a} s = Rtgws)
(S
=3 H|QA B3 SLLEHOYLS
=
; Al 91 QA
B3 2|
= = = AFO| B X 24 of| ’F
Il’ ;_LE (70},9| %1 J],_.I—’_l'kl |- |H-|§l-—|5—|o1|0
Al =S 34,35% 3,44 =°
5317))
St ZHO[X]
- e-3HAE] BX|AREH 2500t
Xz (HE5E2 63fidadh Geitz B0
-201-5%

HEEHA A=
23Xl o5t7]




